10|12 53 &5

il E

Zm|E MBI

TGQAI2[=

SIS

$12, 16, $20, 25, 32, 440, $50, $63, ¢80, ¢ 100

® AOI=/¢12, 16, $20, $25, $32,
$40, 450, 463, $80, 4100

o LjEsls -

DEE 3N

2AHH ollo] Aleld

® B0 %= 25

U FELCE
e XH=Q|x|o] A

£0| 7=
FOIAIED

£ dsist olol=

59| Jl0|E 2= Hjojals
2l ZH|o{2!

- 52 H
o ==
15, 20mm=

(o)

A 0

0l 5Smm=E
e S X

[=lo] =

TGQM20-25"2] #? TGQM20-30"2| 24| LHF
9| AHOIME &= =
iLC.

ZFRIF(5AEnIChH2 5, 10,
9| AHO|ME &r&fsto] MZfEHLCH

HAHZ0| XI5~

305(

ol 73 FUE

Hiojalel EF

M : oz s

EELE

TGQ

BEY
SHE7H

2|5 :
XC16 :

LEAQIR|Q| At

A Hlojdel B7| AL REA)= | EZEESHE(Mm)
10, 20, 30, 40, 50,
TGQM | 0|12 tjof2 #12. 416 75,100
420, $25 20, 30, 40, 50,100
TGQL | = uloj2l | 32, $40, 50, |25, 50, 75,
$63, $80, $100 | 100,125, 150

FO|AfED

L : 2 o 2|5 : 2 ~9%| 9ig
(RHA{LEHAl2IC)
KM LA
4] SHLHH A73K : D-A73K(2 E& 3M
12 © 12mm A, DC24V, AC100V)
16 : 16mm W13 1 W13 (244], DC24V,
20 : 20mm AC110V ZR)
25 1 25mm BXAE QEAQR|
32 : 32mm W1H : W1H (344], DC24VE)
40 : 40mm # 2|EMZI0]= 0.5m(ER)Y
50 : 50mm 1mel =20l Mg, 3me| 4
63 : 63mm 20il= BHER0of L2 ZI1EA|
80 : 80mm G W13 : W13M, WTH : WIHL
100: 100mm

$12~ 425 W13, WHAE
$32~ 6100 : A73KAIE

8 RLEALIA]
2I|= 1 270 B&
S 1 RFE

. =7IA
Slo| EEHH 0l2lo] ST

A (5d4d™oich=2 5, 10,

15, 20mm%=<] ﬁlHIOIA'I% Z=5H0] MZFetL .

(el
TGQM20-252| A<
ol 5SmmZE<] NHIOIA'IE &,
o} S X|ULCH

TGQM20-30°9| 24 &

HAZO0| X|+= 30*

A-237

 TPC |
PNEUMATICS

@ W




TGQAIE[=

TN 223
A2 A S I
BH=1{ot= 1.6MPa{15.3kgf/cm?}
F DALS R 1.0MPa{9.9kgf/cm?}
$12, $16 | 0.12MPa{1.2kgf/cm?}
EPSIWETIE
$ 256~ 4100, 0.1MPa{1.0kgf/cm?}

FRARE A ARESRAIRE -10~+60C
ANRIAE &5 50~500mm/s
4 UZRUBBERTM
= 7 f5%

A Zolo| ofSAt 5 mm

PUSHER

PUSHER

/
/STOPPER

= = L
&S2(x|9| H=0] 7k
H7|50l| 2EASIAISe| OlIHES LY

Al
=

LH&lsts - nE T S|HEA|
7101= 2RI oflo] A2

i
I
rok

ot Al Aot 2
SATIIS 34845 BYE 4|,

2S5 LINES| AET, 2|ZH 0| £H

0] Hlo{&!

| MU E
S| FURIHE 6

TGOM | TGaL

o | 00T | 010

20 ] o

o5 | 008" | 009

22 2006 | 008
40

50 ) o

s | 005 | =0.06

80 ) O

—— | 4004 | +0.05
100

S0 8= 2579

JI0|ERE H|0{2IE

PNEUMATICS

A-238




TGQAIE|=

[Ia

U

aof chstols TZol At 20|, UHS AT SePE| 271K YYHOR FE AR & Ut =

T
&
\ @
—
1 ey
JEEE Soies Aot
a2l FEA| FofAbe @ tiztEel WXL M7= 2EH dFollM= ZEfof o) &
dein Yol e STHY BojM JtojlE EE BE HMAE £ AX|e, e ABoME MHIE E7tsEUCEH
ol 2Alel YHHEct 47| WjZol| FEH (B2 ol S2lR] MetM EeflcolE WHEL A2IF O LR S0Vt AT ER
=2EE AL2stod Batst J710lE REE9| EEto| £atHof| olut =k ol folo] =22 gtEA| H{ZHHE Flushing
(o)

Al e1Zslol FAAIR

= S o | —9—
£, AEY 52| £Z0| JleiX= R0 AISgu=s 2 @ M d2HE %’5.*%* 4%, YKoz =29
x| EELIAL ZI0|E 2d O[22 510 FAAL Chip S0| Zchofl Mx|E AziHe| F7|7Hetez E0{E
A7} A2 EZ Chip 50| WHFoll E0{7}X| A Fo|sto]
FHA2.
® Azl F2 WE2 Mast FXIZ MzZEEo A= 2 EHof
ALy, FEA] 2HFESIA MARGIM WE7IX| A2 o]
A HYE s 4= 5= felo| HER Folsto] F
AIAlO
2| &
S|
o] <
S0 iy
\I_'i
2 ) -2
AlzlH A B $D(mm) 22E 7t
HE(mm)| (mm) | (mm) | TGQM | TGQL x| 2E
12 50 18 10 8 M4 x0.7
16 56 22 12 10 M5x0.8
4D 20 72 24 14 12 M5x0.8
a7y 25 82 30 18 15 M6x 1.0
F‘r@wstw . 32 80 38 22 18 M8x1.25
:{9__4__6 ( 3 40 90 38 22 18 M8x 1.25
] ' m
L%’"'\--i--’“‘@_ F— 50 100 44 27 22 M10x 1.5
63 110 44 27 22 M10x1.5
A2 80 140 56 31 28 M12x%1.75
100 170 62 39 33 M14x2

A-239

PNEUMATICS



ebusy1


TGQAIE[=

TGQMA|2|= TGQLAIZI=
TGQM12~25 TGQL12~25

WV . 17

N2
= !
il
j’;gﬂﬂ

)
50 =ujo| AP 50+ 12| AP
H= FEH XA =] HE) 7= P S =] I
0 =2=7H4 UR0|E B@a HHAH QF2Ol0|E TGQM b2t Z2E IEE=
- — ® 7lojl= 2= —
A |5l= 7 UR0o|E &g BHAH otE20}O| E TGQL |TERATEHZY Tz} ZlEkx 2|
(3 MRS UR0olE Ha 4z LdF0lolE @ | Bush &€ Collar EfaZt Ot MAM =57
[/, JEnESSS UR0|E Ba IZHo|E ©® |Holder [TGQM EfAZE LTS
O nladE EpSInEs HHAH QF2 00| E @ |Felt TGQM o sHAH Qk22O0|E
@ | ~Ho|AM 2Z0|E gF | AZHO|EH|EE STA) @ | Z:0|E 25 2EE EtAZTZ | AZH0|EH|EE YA
® Bumper-A et @ AE - A Btz T Qlated maf
® Bumper-B et @ | A2 -B BT Qlated et
® EZ:olE EbaZt HAEF @ | 0|13 s Head
® mrE 2= AHE|AZ $12~425 @ | & tilof2
@ |7lo|= AH0|M UFo|EEE ZH0|E
s [=Erat] XHXI ’?“ % Hnj §—
(e =) TEOo =
$12 $16 $20 $25
(5] I AE A NBR PSD-12 PSD-16 NLP-20A NLP-25A
(6] 2c o NBR DYR-6 DYR-8 DYR-10SK DYR-12
(7] T~ NBR TC2Q012-18-1587 TC2Q016-18-1687 C18 TC2Q025-18-1687

A 240

PNEUMATICS




TGQAIE|=

TGQMA[Z|= TGQLAIZ|=
TGQM32~63 TGQL32~63

wut S :

7 B

[Ia

U

100% =1fe| HL

(16)
e S [l W 1 1
J
T F | Il — |
100* =1jo| AL 100 =3t0] H
R E TE! He  E o SE e
0 ==y Uzo|E 32 BHAY Qb20l0|E ® TGQM Etazt Az 323
70| 2E|
@ |sl= 71+ J=ojE €2 | WA w=oj0s OIS B Gl [aseastomy|  nEm Az
O Azif &= U20|E o2 ZZ ¢=Znjo|E ® | HOLDER | TGQM Elazt B =
(/. Y ES S dzolE 32 EELVIS @ | FELT |TGQM %z
O ojladed i @ | Zo|E 23 EE Et3ZTL LTS
@ | 240 20| 2 | IZH0|EH|EE STAl) @ AR - A Etazg T olAted mat
® | BUMPER-A et @ 292 -B EtaZTY olAred m|af
® BUMPER-B et @ | 0|n3 o HE
® Z3olE ElazZ) HA=F ® | 27| ol
@ |orE 2= Etazt & 3253
® | 71ol= AHo|A URolE B Azoo|E
wel o e TEHS
$32 440 450 463
0 |ZA= T NBR PSD-32 PSD-40 PSD-50 PSD-63
0 == oz NBR DYR-16 PDU-16Z PDU-20Z PDU-20Z
Q |7t2A NBR C29 C36 C46 C60
0 |sl= A 7iAz NBR| TGQMO032-18-1586 | TGQMO040-18-1587 | TGQMO050-18-1588 | TGQM063-18-1589

Y

PNEUMATICS




TGQAIE[=

TGQMA|E|= TGQLAI2|=
TGQM80~100 TGQL80~100
®<\@ /@ T e vV
'EJLJ[ T I’I‘fl;)\ = I 5\ I[ T J)I?X I —I—l/

™~ 15}
1] Wﬂﬁﬂ
S
&

&
D

&
ISR
.
o

AR TP
N

\\101/

D

=i
CTE : |
50 z1jo| AL 50 x1jo| AL
HE Yy o S| H I HE £ 4 o S| H I
0 == 74 U0l &@HaE BHAH otEROLO|E ® 7tol= ~mo|M | L=RolE BF 3AZH0|E
0 sl= 7y UR0|E & YA QtZ0}o| E TGQM Etazt #3253
© |z 5u oZojE E | A 2TojolE ® IS 25rool meaagsoRa | nRm s
(. NpESS d2olE 3 H=Z0jo|E @ |HOLDER |TGQM EbAZt e =
@ |BUSH 28R B @ |FELT |TGQM %
@ oiadE @ s Y EEER etz oliteimat
® | 25014 UFolE 52 | 2200l HIEZHHA) ® |~ 2B stazTy olabed mat
® | BUMPER-A ef|Et @ | ol sofE Head
® | BUMPER-B st ® | 254 oY
® =:2olE ety =]
® ZolE R E2E | Ea3TZ HAzg
Q TrE 2= Etazt
We oo Ao TEHE
$80 $100
O IrE 1Y NBR NLP-80A NLP-100A
Q == NBR DRP-25 DRP-30
0 723l NBR C-75 C-95
@ | sl= 7Y 7123 NBR |TGQMO080-18-1794| TGQM100-18-1796

A-242

PNEUMATICS




TGQAIE|=

s

*x E-’.Ei’é‘,‘ OIQIQ.I %?_l‘ %gg éﬂ-“OIA-I KA:II-%I 4-TM, Zlo|TL

C BORE ¢7TD Zlo| TLL

U

|

T

|

1

;

g
FB

=]
ELFA
" 4-FM, Zlo| FLL
Lol (M oo
"’ i
4-QM, e o " Hlr semaoeL -
T 4-GM,
U $ & N
$UB C FA AsFC.mE ol
$ UAH7 C BORE $FD, 20| FL 3
& [ (& %
oo 7 T E 0"
242 ¥ S’ m 35?
1] - m ol Lo ] . Olm
| [e1s8- = ThHe o {SImECE
& T T g
U'f =iz o oA o N -
QA E | EALA+EZSY CAlCB
s LB+3 j EB c
LL+ 3 A
TGQM - TGAL 38 A=
Azl DA EE FA
Wi Z&|A|B|CCACB|D DB E |[EA TGQM TGQL F o FB|FC|FD|FL|FH| FM [FLLIGAIGB|GCIGD| GM |GL|LA|LB
(mm pofe) || R ] ST S
12 |26160|13(125/13| 6 |8 |6 (46| 8 |5 |0 | b (34| 3|13|13(23|28| 7 [20|40|25(4.3| 8 |135/18|M5x0.8/12|18|50|23|M3M4x0.7/10|29| 42
16 |30|67|15/145/15| 8 11018 |50| 8 |5 |0 | 5 |34|5(20]20(30(35| 7 |24|44|274.3| 8 (12522 |M5x0.8/12|22|56| 24|M3M5x0.8| 12|33| 46
20 [36(85/18[175/18|10(12(10|58|10|6 |3 | b |47| - |12|25|35|42(18|24|44|31(6.5(9.5(135/24 |M5x0.8/13|24 72| 28|Mb|M6x0.8/ 13|37|53
25 [42(95|21205/21|12(16(13|68|1016 |3 | 5 |47| - |18|18|37|48|18|24|44|35(5.5(9.5/14530 |M6x1.0{ 15|30 82| 34|Mb|M6x1.0| 15[37.563.5
=i LL
Wz | TGQm TGQL P |PAIPB|QAIGB| QM | R|S | T™M |TL|TD|TLLUUJUA UB|UC|UD
(mm) | 35T (49753 | 55T RS
0% i £ | T | BT 98T | g | 53
12 |42|47|76|45|55|55|65|70 |M5x0.8|118.5 14|48 |M4x0.7/58|22|M5x0.8| 5| 6 |4.3/123| 3 [35/3 |6
16 |46|51|80|51|66|66|76(81 |M5x08|11| 8 | 16|54 |M5x0.8)/65|25|M5x0.8/ 10| 6 |4.3|24| 3 |35/ 3 |6
20 |56|58/100 - |65|78|88|95|Rc1/8(105 9 |18|70|M5x0.8/83|30|M6x1.012| 7 | 8 |28/ 3 |35/ 3 |6
25 |565|585/1005 — |715715905(1015|Rc1/8(11.59.5/26| 78 |M6x1.0{93|38|M6X 1.0 12| 7 | 8 |34| 4 |45/ 3 | 6

(mm)  TGQEI12~25

A2l 2xel 2508 TV R Fx= olfet s Al [AIBICIDIE|F | =g=e
20| ArESHEAI2. TGQ+ 12[35 6| 2 [4.31.5]23] M3 ST,
. MBS Hatslol THT AlS ZS TGQ- 163762 2 461524 M3 Ol 32
TGQ+20(5.58.5(3.57.8| 3 28] M5 . Tea012
TGQ+25[5.58.5/3.5 8 | 3|34 M5 = TGQO16
TGQO 20
B TGQD25
DETAIL"7F
A-243

PNEUMATICS



ebusy1


ebusy1


ebusy1


ebusy1


ebusy1


ebusy1


ebusy1


ebusy1


ebusy1


ebusy1


ebusy1


ebusy1

ebusy1

ebusy1

ebusy1


TGQAIE[=

W IS ZIJl ™A AT AROI
% EFEAUA 0|29 SZH AA2 AHO|A Afe
: 4-TM, ZOITL /4—Oy nE .
2 s | a-om.zloleL
=4 \\ T ,v(« - . - /
R - @ ® -_-— Mo
% — \JF
o ; {
a / .
= o <! A
SHEEN & af ™
¢UAH7 el om ER{E) . . — ~ o oq
T — [ > ¥ - a
S ) = *Ji,,
SN B L @5 o Mo
: TA+8E | T QA PA
SA .~ S — |SB EE . LA+83  es . CA
[B+3x CA 1 CB
LL+3d = g
TGQM - TGAL 3 ATE
Azic)| & DA =
W e ¥ aA|B|Cl|cAalcB|D E |EA TGQM TGaL GAIGB|GL| GM | | |LA|LB
(mm)| (mm) ToOM | T6L BST | 50ST | 75ST [100STI125ST/160ST] 25ST |50ST |76ST {100ST|126ST 1505
32 | 0 |53]11427/2526/16 |20 16 1210 282 (412|462 |462/512/512 44 | 414|464 464 66 664| 38| 80| 20| VA1 | 2 |15 5
40 | 77 |57 )124)31(25|26|16(20| 16| 12| 10| 167|347 (207 |37 | w47 | 47| 0 | 29| 29(209 99 |59 | B | % | 2 | Wex1B |2 | 4 | &
50 | 1% (60 14029 |29 30|20 | 25 | 20| 16 | 12| 277 |37 |7 | 407|547 | 547| 29 | 49| 499 |09 |89 |eas | 4 | 10| 5 | w1015 | 2 | & | 72
63 |22 150 g5 [150145.5 29 |36.5/20 | 25 | 20| 16| 12| 27 |247 a7 |7 | 497 {407 ] 0 [ 09| o uag [oag [oag | s [ 10| 5 | wnoxts [ 31 | a0 | 7
Azl CE
EH ?3; TGQM TGQL P |PA|PB|QAIQB| QM | R | S A8 T [TA[TB|TL| T™M U |UAlUBlGWL
Y gesrl s0sT] 75T/ 1005T 12557 1506T] 25T | 50T | 75T 10012851606
32 | 827/1007/106.7105.7110.7/110.7] 639]1009/105.9/1059(1259/1259| 1/8 [125| 9 | 30 | 96 M8x1.25(112| 48 [2|1] 16 | & [100| 11 |M8x125| 42| 4 |45|3(6
40 | 827[1007)105.7/105.7110.7/10.7| 639 100.9[105.9]105.9|125.9/1259] 1/8 | 14 10.5| 30 | 106 M8x1.25|122| 48 |2|1| 17 | 10 |110] 11 |M8x1.25) 60| 4 |45 |3[6
50 (997|1117121.71217(126.71126.7] 749{116.9[121.9|121.91419(1419] 1/4 | 14 | 11 | 40 {120 M10x 15| 138| 86 |2|1] 17 | 10 [124|125\M10%15 56| & | 6 |4[8
63 | 997[117/121.7121.7126.7/126.7| 749[116.9/121.91219(1419/1419| 1/4 [16.5135] 50 [130 M10x1.5] 148] 69 [2]0] 19 | 10 [132| 15 [M10x 15| 66| 5 | 6 |4/8
(mm) 732~ 7t 7t
Aeie] 2ae] $508 JF Fe| TxE of2ie) 20| A T A TGQH32~63 /S
o - A
SSHAIR. TGQ132 8 =1 538
 M2ICiE a0l TYsT A A TGQL40 | 8 @ [ mpdt oo
TGQLI50 8 S— TGQO32
TGQ[163 8 N TGQ40
TGQO 50
IGQLs0F . 10 DETAIL"?F TGQ063
_— TGQ 80
TGQ100 | 10 TGo@e0
_
PNEUMATICS A 244



ebusy1


ebusy1


ebusy1


ebusy1


ebusy1


ebusy1


ebusy1


ebusy1


ebusy1


ebusy1


ebusy1


ebusy1


ebusy1


ebusy1

ebusy1


TGQAIE|=

|
4-TM, ZI0ITL 4-QM, 25 Sy
: 2 =
= & :
b b > ®
2| e i
& N2
b &
= &
TA+E | T A
SA S SB

« EEWH 0/2/0] 52 HH2 AHOIM Alg)

4-GM, zlo|GL
F FA+% 4-$FC, 2E

;/ o Do

$ DA
=)

s
S g K ﬁ 8
- N o u k -
RN
& —
B )
uN | 2-Re(PT)P L@g}
PA PB o
EEA. LA+us A | B
LB+ EB c
LLrat -
TGOM - TGQL 28 X+
Alzicy | B2 Stroke DA EB
W | (mm) A|B|C|CA|CB|D E |EA| TGQM TGAL F |FA|FB|FC|FD|FL|GA|GB| GL
i TOOM | Te0L 25T OS] 0T T 5.1 0 15 5T

80 | 250,75 [96.5/204| 50 [38.5[46.5| 26|30 | 25 | 22 | 18 23.3|25.3|53.3p8.3(8.5 | 725 |20.6{15.5/100| 11 |17.5 11| 56| 165 30
100 |100,125,150| 1145| 238| b8 | 41 |66.6| 30 |36 | 30 | 26 | 20 |18.8|23.8/48.8p3.8(4.0 | 73.0 |20.5/ 26 [120| 13| 20| 13| 62| 184 35

LL
g2l | gm [LalB|  Teawm TGaL | P |PA|PB|PC|QA|QB| oM |R| s |sAlsB| T |[TA[TB|TL| T™
Hf3/mm) 26T 505 T s 8 1T 0 15557
80 |M12x1.75|565 (965 [1ogh21 gliaoglisas| 105 | 169 | /8] 19 [15.2] 28 | 60 | 174 |M12x1.75] 198 | 80 [ 65 | 10 [205]155] 182 | 18 |M12x175
100 | m4x2 | 66 |11 hagiaeglisofieas|11s | 18 | /8 |225]188] 36 | 64 [200] mrax2 [231] 96 | 9 [105|208] 25 [217 ] 21 | miax2

A-245

PNEUMATICS



ebusy1

ebusy1


TGQAIE|=

T = D-A7:xK& (elC|#|o|e{ Y= 2
A D-A73K

g = 2lzfo], AlEA

SatEet DC24V ACT10V
T 5~40mA 5~20mA
HEEssz g =

Hiz2otdet 2.4V ofsf
olciAole{= ONA| HAjgigcio|2E HE
LR

« SEAIZE: 1.2mS

« 2579 1 |ECTA IP67, WE(JISC0920), YRTE

# 2l=M 20| 3meul= FH Eof L

1o
FH

Al

(ofl) D-A73KL
8 $3.2
olC|A|o|E] 2H=
< | < kﬁ
$34 |[o© . |
22
1
~ |
S p
IRETEEEES
8.6
EEIY
SXHRI( 1 X5 )
AEICAR|= HEFEHE (mm)
$12 | $16 | $20 | $25 | $32 | 40 | $50 | $63 | $80 |$100
TG | - | - | = | = 12|11 ] 10|12 |12 | 13

’T’PC
PNEUMATICS A-246




TGQAIE|=

S W

LEAQXZH W1HO W13
HHEA e e
g = 2ajlo], AIFEA, A8 2efwol=
HjAMEEAL 344 244]
HeFo} DC10~28V -
Halmet DC28V 0|5} DC24V, AC110V Z#2
saizn 100mA ofs} DC24V': 5~40mA
AC110V : 5~20mA
: L5 F et 100mACliA 0.5V 0|5t 40mAoiiM 2.4V o5t
FANE DC24VollA 10#A 0|3t
OFF Al BmA,
SHIER ONAI 35mA ol3t -
ZXIAIZH 1ms 0|3} 2ms 0|5}
LHR4A °[EZ Elo|o Z=
2l=d 3M(E Z &) 0.16mm’ | 24(E, &) 0.2mm?
EAS ONA| =M MS
Hoix|st DC500VollA 100M£2 of&t
Foles -10 ~ +80°C -10 ~ +60°C
WESE 100G 30G
PEEES IECTZ IP67 & (JIS C0920), WaTax
L gt AC1500VollA{ 1227+
26 4 6.3
13 5.5

3.9
|

-
QEOWiHF

$4.4
4.7
$3
l
I
6.55,

f £\ (mm)
B ey B g YO T &2  [wiHo|wi3so
—I_ _——8 x| 717+ O %
} L(zDZ= /%)) 10 15
L AQIX|ZRAZ] | 4~10 | 4~10

A-247

PNEUMATICS




TGQAIE|=

(D-73K4)

QEAX|

/" D-A7:xK¥
B

o——¢
%_

FEHZA A B
32 9.5 115
40 135 14
50 115 15.5
63 14 185
(WI1L]E)

i

() LEARIX| BAH|AE MASt= 5~6mm 2| Al ECI0HE

ARSI AME EQ3 = 1~2kgf - om B2 ST}

M2x0.4x4L,+ X 2| 2E

LEALX| Er
@ _ @ Wiloo¥ m
EE
] - i
H ] Do
(mm)
= oy W1H@o W13o

B A B A B

12 2 2 0 0

16 5 B 0 0

20 7 7 0 0

25 8 8 0 0

A-248

PNEUMATICS






